
www.racecardynamics.com  RCD Suspension    619-588-4723          info@racecardynamics.com 

Page 1 - #16-05184 

            
1984-2001 JEEP CHEROKEE 

REAR BUMPER 
P/N: 10-05184 

INSTALLATION INSTRUCTIONS 
 

PART LIST 
 

5/29/13 

    

    

20-05184-1 Rear Bumper 1  

20-05184-2 Frame Mount, Drvr 1  

20-05184-3 Frame Mount, Pass 1  

20-72033 Hardware Pack, Bumper Brackets   

   13-20142-Z 7/16-14 x 1-1/4” Bolt 8  

   13-10133-Z 7/16-14 Nyloc Nut 8  

   13-30117-Z 7/16 Flat Washer 16  

    

    

PLEASE NOTE 

On 1997-2001 models the rear portion of the fender flare is part of the original bumper which 
gets removed. RCD recommends the use of aftermarket fender flares in this instance. 

RCD Quarter Panel Cover Kit 10-05384 is recommended on 1997-2001 models. 

http://www.racecardynamics.com/


www.racecardynamics.com  RCD Suspension    619-588-4723          info@racecardynamics.com 

Page 2 - #16-05184 

Rear Bumper Installation Instructions  
 

 

1. Remove rear bumper by removing four bolts on each side attaching bumper to body. On 
later models, with wrap around end caps, first remove the end caps by removing the re-
cessed screw at the lower front and 6mm bolt and nut at the lower rear and sliding the end 
cap towards the rear. 

2. Install Frame Mount Brackets to original bumper mounting location with original hardware. 

3. Place bumper on vehicle and loosly attach with 7/16” hardware provided. 

4. Align bumper to body and tighten bolts. 

Existing Hardware 

7/16” x 1-1/4” Bolt 
13-20142-Z 

7/16” Nyloc Nut 
13-10133-Z 

Rear Bumper 
20-05184-1 

Passenger Frame Bracket 
20-05184-3 

Drivers Frame Bracket 
20-05184-2 

http://www.racecardynamics.com/

